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o A:{x/x3:x,xez},B:{x/xz—x:O,xez}
A C={1, 2} €, dl 0l A 3,
(1) Ax(B-C)=(4xB)—(4xC)

(2) (4nB)' = AUB"
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A A={2,3},B={6,7},C={7,9} €, d uld A 3 :
(1) Ax(BNC)=(4xB)n(4xC)

(2) Ax(BUC)=(4xB)U(4xC).
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(1) 16x 7Py =13x "tlp

(2) 92,_,:1p ,=30:11

0, 1, 2, 3, 4, 5, 6 8- s ¥ duid GuaRL $3 =18
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A 2uda B uel 40 4 50 a2 Rl €A dl 7
[aeai-l dval od) :

28 : 30—40 | 40—50 [ 50—60 | 60—70 | 70—80
el dvar: |31 42 51 35 31
vedl BHd ellHl : 8
X 11213415

y=u_:|2|5|7|—-132
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5 7 11 13 17

y=u, :|150 | 3921452 [ 2366 | 5202
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ENGLISH VERSION

Instruction : Q. 1 to Q. 4 are compulsory.

1 (@
(b)
1 (@
(b)
2 (a
(b)
2 (a
(b)

If A:{x/x3:x,x€z},B:{x/xz—x:O,xez} and
C =1{1, 2}, then prove that :
(1) Ax(B-C)=(4xB)—(AxC)

@ (4ANB) =AUB'

Define with examples :

(1) Complement set (2) Union of sets
(3) Difference of sets (4) Null set

(5) Intersection of sets.

OR
If 4={2,3}, B={6,7},C=1{7,9}, then prove that :
(1) Ax(BNC)=(AxB)N(AxC)

@) Ax(BUC)=(AxB)U(4xC).
State the D'Morgan's rule and prove by using
examples.

Find » :

(1) 16x 72 =13x "tlp

@ Y2, :Up,_,=30:11

How many three digit numbers can be formed from
the digits 0, 1, 2, 3, 4, 5, 6. If each digit should be used
once only ? How many of these are odd numbers ? How
many are greater than 330 ?

OR
Find the value of x :

@ 15cg+ B¢, 4+ B¢, 4 150, =17c
A space shuttle crew consists of a shuttle commander,
a pilot, three engineers, a scientist and a peon. The
1 shuttle commander and 1 pilot are to be chosen from
8 candidates, the 3 engineers from 12 candidates, the
1 scientist from 5 candidates and 1 peon from 2
candidates. How many such space shuttle crews can be
formed.
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In the expanson of [2362 ——] , find coefficient of x!0. 7

3 @
x
. 7 7
() Find the value of <2+ ﬁ) + (2—«/5) . 8
OR
15
3 (a) Prove that in expanson of [x4——3] the sum of 7
x
coefficients of x32 and x~17 is zero.
1 7
(b) Find the middle terms of [2362 - —] . 8
x
4 (a) For the given data find estimated no. of students 7
having marks between 40 and 45 :
Marks : 30—40140—-50 | 50—-60 | 60—70 | 70—80
No. of students : | 31 42 51 35 31
(b) Find the missing value : 8
X 11213415
y=u. [2]|5]|7[-1]32
OR
4  Estimate the value of y when x=9 by using Lagrange's 15
formula :
X 5 7 11 13 17

y=u, :|150 | 3921452 [ 2366 | 5202
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